
(Motet à 3 - Nicolaus Craen)
12. Ecce video caelos apertos

Adolf Blindhamer
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A-Wn:Austrian National Library Music Collection ms 41950:Blindhamers Lautentabulatur (c1525), f. 9v. Enc. and ed. by Sarge Gerbode.

2) Note one course higher in orig. (overstrike missing).
1) Note one course lower in orig. (overstruck in error) and following note indistinct.
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2) Note indistinct. Could be a c.
1) Note one course higher in orig. (overstrike missing).
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2) Note one position to right in orig.
1) Note one course lower in orig. (overstruck in error).


